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SECTION-A
QTN — D
(20 marks each)

Answer the following questions : (20x3=60)
NS @%ﬁ@ﬂ SVUZOR

1.

0.

Define organisation. Explain the feature and significance of organisation.
BOROIOR 739,859, Q%. RORCID MOLILTED TIB) OB, W30 SPR.
@ o 3 8 @ o i = %
OR/&ge

What do you mean by organisétional development explain the concept and
objectives of O.D.

ROTET LRF D) QOTBERD ? BTT BOFUF 0B NVTEBRF) O

Define organisational change. Explain how the change can be introduced in the

organisation ? ,

moﬁg VTCOTFBODR) 559,859, DR, WHERBECIT; zfo:"é)oda@m Bert BOWCWRWIBIT 7
OR/e2@s

Define organisational intervention. Explain the types of interventions.

ROTPEITD e.-aepdg@@ Sﬁ\ em’daﬁg{ TSR 2=Tnle] &Dqﬁﬁ@i&"% DIOR.

Explain the concept of organisational effectiveness. Explain in detail criteria for
organisational effectiveness.

APOYE TOTRITIOE, 3 TOBVNOIT) DB BT, WFT BRTTOBB DZOR.
OR/egs
Explain the guidelines and principles of change agent.
WETTE BOGRSF O WRNF RS 308 a’éﬁr{@édoﬂt QWO
P.T.O.
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) SECTION-B
QPn—-W
(6 marks each)

Answer any six of the following :
39N 8 FINOT LOZOR:

1.

Explain line and staff organisation structure.

g =353 22000 A0 T3N3 Q0.
RS & =

Explain the process of OD.
FoPLIT LRF 0D ajgoi:oda;b@ﬁb%.
@ %
Write the characteristics of organisatidnal intervention.

0XB BABCTD REOBEANTRI, WOA.
G D oY 3

Write a note on M.B.O.
M.B.O.@ wﬁnasa-isé WOOD. .

Describe the approaches to measure organisational effectiveness.

moﬁg d@mdzm@%d@t 38303003 THRNT CBRRW) ?

Explain the concept of dynamic balance.
£030°38 ARBRCOTT BoFUSODR, B0

Explain SHAMROCK organisation structure.
SHAMROCK =ozic RRTOCIR DBOR

Write a note on managing resistance to change inan organisation.

FoRc38 WEHETE BITRGITI QETROUROT 27} £33e9 LTCA0.

@

(6x6=36)
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SECTION-C
QTN = 2
(3 marks each)

Answer any four : (3x4=12)
SN AN TTIR SEH) @éﬁ@ﬁ V0N :

1.

Explain strategic reward model.
woﬁoﬁwj DT dmzj@o:b&q NWOR.

What are the qualities of change agent.
WESRTEED DOLT MOUEHNRRD) ?

What you mean by continuum of resistance to change ?
Z8BR¢E ATFTIODR, WTSROWRY BT ?

Differentiate between OD and MD.
OD &2 MD 03> S @30 0.

Mention the components of organisational design.
ROZ0 DFRT T‘wwﬁr{eﬁa’a QTOA.

@ 3

What are the factors effecting organisational change ?
mo?\g WREPRFBOD 2506 BOFHIRD LTI L0BNPIR)) ?

SECTION-D
AIR-8
(1 mark each)

Answer all the questions : (1x12=12)
3¢NS BInert cugon:

1. What is structural approach ?

2308 GRT 0BT ?

2. What is unfreezing ?

Unfreezing «0wdez0?

3. What do you mean by group ?

NOOR) DOTTERD ?
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4.

10.

1.

12.

What is commitee organization ?
Commitee 53 DOTTEI>?

What is individual organisation ?
03088 ﬁofgp DO 9

What do you mean by futuristic scenario in OD.
PoF B0 BB, OD DOTTEZO 9

Define change agent.
WD BIGESF 03T, 559, 3TAR.

What are quality circles ?
MOEsEOLIE OOD Q0TTE0 ?

. Define organisational development.

mo;ﬂg @@%@p@@t IR

What do you mean by structural intervention ?
C3T0ZB TR 0BT ?

What do you mean by passive resistence to change 7
WETRTF Dy oD B88ReE030TTER ?

What are encounter groups ?
Encounter m0) 0m3eR0 2
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